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Sr Questions Answers Choice

1 The Second highest Peak in Hindu Kush Mountains is Noshaq at ____ meters altitude.
A. 6484
B. 7484
C. 8484
D. 9484

2 How is measured the volume?
A. Cubic metre
B. Metres
C. Yards
D. Square metre

3 What is measured by metre per second?
A. Acceleration
B. Velocity
C. Speed
D. Aeroplane's speed

4 The highest Peak in Hindu Kush mountains is Tirich Mir at _____ meters.  
A. 7690
B. 7790
C. 7890
D. 7990

5 Unit hertz is the measurement of:
A. Potential difference
B. Frequency
C. Electricity
D. Pitch

6 The Hindu Kush mountain guards the _____ border of Pakistan.
A. North-Western
B. North-Southern
C. East-Southern
D. West-Southern

7 How many decagrams are there in 10 grams?
A. 1
B. 2
C. 3
D. 4

8 100 hectares are equal to:
A. 1 sq.kilometres
B. 3 sq.kilometres
C. 2 sq. kilometres
D. 4 sq.kilometres

9 Some Peaks of Hindu Kush mountains are higher than ____ meters in altitude. 
A. 3000
B. 5000
C. 7000
D. 9000

10 How many square metres are there in one hectare?
A. 1000
B. 1200
C. 1500
D. 1800

11 The Southern limit is considered the ____ River, a tributary of the Indus River. 
A. Hunza
B. Gilgit
C. Ghizer
D. Kabul

12 How many square centimetres constitute one square metre?
A. 200 sq.decimetre
B. 100 sq.decimetre
C. 300 sq.decimetre
D. 400 sq.decitmetre

13 In the ____, Hindukush mountains merge with Pamir Plateau.
A. East
B. West
C. South
D. North

14 How many square centimetres consist of 100 square millimetres?

A. 2

B. 1
C. 5
D. 8

15 The Hindukush mountains extend westward into ______.
A. China
B. India
C. Afghanistan
D. Pakistan



16 Mention the metres in one kilometre?
A. 1000
B. 1500
C. 1600
D. 1800

17 The Hindukush range is a continuation of the ____ Range. 
A. Himalaya
B. Sulaiman
C. Karakoram
D. None of these

18 10 decagrams are equal to one hectogram and 10 hectogram are equal to:
A. 2 kilograms
B. 1 kilograms
C. 3 kilograms
D. 4 kilograms

19 How many kilogram constitute one quintal?
A. 50
B. 100
C. 150
D. 200

20 One ton consists of:
A. 500 kilograms
B. 1000 kilograms
C. 1200 kilograms
D. 1400 kilograms

21 The height of Distaghil Sar is _____.
A. 7885
B. 7985
C. 8085
D. 8185

22 How many cubic millimetres constitute one cubic centimetre?
A. 1000
B. 1200
C. 1300
D. 1500

23 How many metres are there in one cubic decametre?
A. 1000
B. 1500
C. 1500
D. 1800

24 The world's eleventh highest peak is______.
A. Broad Peak
B. Raka Poshi
C. K-2
D. Nanga Parbat

25 Pak-China mountaineering team scaled Broad Peak on _____. 
A. June 28, 2001
B. June 29, 2001
C. June 30, 2001
D. June 27, 2001

26 One register ton is equal to:
A. 300 cubic feet
B. 100 cubic feet
C. 200 cubic feet
D. 400 cubic feet

27 How many cubic feet make one bulk barrel?
A. 5.8 cubic feet
B. 6.7 cubic feet
C. 8.8 cubic feet
D. 10 cubic feet

28 Nazir Sabir is the first Pakistani Mountaineer who set foot on world's Highest Peak Mount
Everest, on ______.

A. May 17, 2001
B. May 17, 2000
C. May 17, 1999
D. None of these

29 How many cubic feet make one cubic yard?
A. 5.5
B. 15
C. 27
D. 33

30 How many cubic inches are there in one cubic foot?

A. 1628 cubic inches

B. 1728 cubic inches
C. 1428 cubic inches
D. 1320 cubic inches

31 The height of Mt. Paiju is _______.
A. 6,500 m
B. 6,580 m
C. 6,590 m
D. 6,599 m

32 20 hundred weights are equal to:
A. 11 tons
B. 1 ton
C. 5 tons
D. 12 tons

33 How many pounds are equal to one stone?
A. 10 pounds
B. 14 pounds
C. 18 pounds



C. 18 pounds
D. 20 pounds

34 The height of Gasherbrum 4 is ______.
A. 7,800 m
B. 7,900 m
C. 7,925 m
D. None of these.

35 How many ounces are equal to one pound?
A. 16
B. 20
C. 22
D. 28

36 Ounce is equal to:
A. 437.5 grains
B. 16 drams
C. Both a and b
D. None of these

37 The height of Muztagh Tower is_____.
A. 7000 m
B. 7100 m
C. 7273 m
D. None of these.

38 How many acres make one s.q mile?
A. 60 acres
B. 64 &nbsp;acres
C. 70 acres
D. 80 acres

39 Which mountain peak is known as Egyptian Pyramid?
A. Nanga Parbat
B. Broad Peak
C. Gasherbrum
D. None of these

40 Mention the roods in one acre.
A. 3 roods
B. 1 rood
C. 2 roods
D. 4 roods

41 40 sq. rods make:
A. 1 rood
B. 4 roods
C. 5 roods
D. 8 rood

42 There are scores of over 7000 m peaks in ______.
A. Karakoram Range
B. Hindukush Range
C. Himalaya Range
D. None of these

43 Which mountain range is known as "The Third Pole"?
A. Hindukush
B. Himalaya
C. Karakoram
D. None of these.

44 Around which city are towering mountain peaks?
A. Chitral
B. Gilgit
C. Gupis
D. None of these

45 How many yards are there in one sq rod,polo or perch?
A. 304.50
B. 404.50
C. 505.75
D. 207.25


